

Symbol Equation #1

August 31, 2015

$$\nabla(\Delta + \dot{\phi}) = \text{☺}(\nabla - \text{¢}) \text{ for } \nabla$$

$$\nabla\Delta + \nabla\dot{\phi} = \text{☺}\nabla - \text{☺}\text{¢}$$

- ☺\nabla \qquad - ☺\nabla

$$\nabla\Delta + \nabla\dot{\phi} - \text{☺}\nabla = -\text{☺}\text{¢}$$

A.S.¢
A.S.¢

$$\nabla(\Delta + \dot{\phi} - \text{☺}) = -\text{☺}\text{¢}$$

Dist.¢
A.S.¢

$$\frac{\nabla(\Delta + \dot{\phi} - \text{☺})}{(\Delta + \dot{\phi} - \text{☺})} = \frac{-\text{☺}\text{¢}}{(\Delta + \dot{\phi} - \text{☺})}$$

$$\nabla = \frac{-\text{☺}\text{¢}}{(\Delta + \dot{\phi} - \text{☺})}$$

M.S.